centos bonding Active

annni 1]

Bonding[] 111 (1111 Active [TT1T1] 1113

1. ethO[] [0 1 NN ethl] 11T NN ethO[T] [IT0 1

[root@localhost ~]# cat /proc/net/bonding/bond0
Ethernet Channel Bonding Driver: v3.7.1 (April 27, 2011)

Bonding Mode: fault-tolerance (active-backup)
Primary Slave: None

Currently Active Slave: ethl

MIl Status: up

MII Polling Interval (ms): 100

Up Delay (ms): 0

Down Delay (ms): 0

Slave Interface: ethO

MIl Status: up

Speed: 1000 Mbps

Duplex: full

Link Failure Count: O

Permanent HW addr: 00:00:00:00:00:00

Slave queue ID: 0

Slave Interface: ethl

MII Status: up

Speed: 1000 Mbps

Duplex: full

Link Failure Count: O

Permanent HW addr: 00:00:00:00:00:01

Slave queue ID: 0



2. bondO[TIT] L1 (111 ethl -> ethO

[root@localhost ~]# ifenslave -c bond0 ethO
[root@localhost ~]# cat /proc/net/bonding/bond0
Ethernet Channel Bonding Driver: v3.7.1 (April 27, 2011)

Bonding Mode: fault-tolerance (active-backup)
Primary Slave: None

Currently Active Slave: eth0

MII Status: up

MII Polling Interval (ms): 100

Up Delay (ms): 0

Down Delay (ms): 0

Slave Interface: eth0O

MII Status: up

Speed: 1000 Mbps

Duplex: full

Link Failure Count: 0

Permanent HW addr: 00:00:00:00:00:00

Slave queue ID: 0

Slave Interface: ethl

MII Status: up

Speed: 1000 Mbps

Duplex: full

Link Failure Count: 0

Permanent HW addr: 00:00:00:00:00:01

Slave queue ID: 0
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